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[4 PTS] Solve 1+
365

Also, copy the exact solution onto the calculator portion of the quiz.
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[2 PTS] Solve 7+ 3Inx = 5. Find the exact solution(s). ANSWER:

Also, copy the exact solution onto the calculator portion of the quiz,
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J =4 . Find the exact solution. ANSWER:
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[3 PTS]Find the exact values of the following expressions.

a]  log;75-log,3 ANSWER: ol

109+ % = log, 25-2

[b] logz\/g ANSWER: 5
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[2 PTS] Write In xz\/Z as a sum, difference and/or constant multiple ANSWER: ) s+ “i‘»\u\ = ’:\Z L\ Z
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[2 PTS] Write $[log, ¥ +2logy(y +4)] - logs(y — 1) as asingle logarithm. ANSWER: lo% g :j\#; |
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[5 PTS] Solve log5x + log(x — 1) = 2 . Find the exact solutions). ANSWER:
Voq Bx () = 2 oL 5
gy(x—l) lD =100 | \03 25 » ’%4 IOﬁ loQ=2
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Use your calculator to find the decimal approximation of your exact solution, rounded to 4 decimal places.

0.065)365'

[1 PTS] Solve (1 + =4, ANSWER: 212295
R |

[1 PTS] Solve 7+3Ilnx=35. ANSWER: 0.5 1’5’,/,.1

Use your calculator to find the decimal approximation of your exact solution, rounded to 4 decimal places. —_—



